
Square And Square Roots
Ex. 5.2
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c.5 .2

1 .

"

Ve3x(5xx7 = 3xSx7 = 105(B)

2 . 72401

7↳343
749

7

not = x*x*x7 = 7x7 = 49(2)

3. 211296
248
22327
ze
3
3227
3
3

-#296 = 22x (2x2x(3x3
= 2x2x3x3

= 36 (A)

n . 222, 3, 4
1
, 3, 2

2 . C . M . = 2 x 3x]

= 12

12 = 22x2x3

2 does not occur ina fair
.. We multiply 12 by 3 to get a perfect square
:. Least square number exactly divisible by
2. 3 and Y = 12 x 3= 36 (D)
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Sa . The possible unit's digit in the square root

of 5781 is I or 9 as =1 and 92= 81.

b . The possible unit's digit in the square root

of 310025 is S as S= 25.

c. The possible unit's digit in the square root

of 4164 is 2 or 8 as 22 = 4 and 82 = 64.

d. The possible unit's digit in the square root

of 3296 is 7 or 6 as 4216 and 62= 36.

6 a 32201

67

201= 3x67

Since 3 and 67 do not occur in a pair.
.. 201 is not a perfect square

b . 525
Ses
shas

S

625 = 25 x xS

Since S occurs in a fair
.. G25 is a perfect square

e. 149 = 149x1

Since 149 is a prime number.
:. 149 is not a perfect square
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d 3St
27273

3 909L
3503
10I

8181 = 2x3x(3x3x101

Since Lot does not occur in a fair.
: S1S1 is not a perfect square

7a 211024

↳
2 128L
2↳

i
2
24
2

Fourx2x*2x2x2x2
= 2x2x(x2x2

= 32

b . 24000

220
20
2s
5
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Foo = 1x2xx2x
= 2x2xS

= 20

E 214096
2 2048L
2↳24
2↳12
26

i
2
24
228
24
2

#09 = x2xzx2xxx2x(2x2x2

= 2x2x2x2x2x2

= 64

d 51422S

S
13
-

#225 = x=3x13
= 5x13

= 65
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e. 27744
23872L

3
2 484L
2 242L
11
11

#zun = 12x2x(x2x(2xx11
= 2x2x2x11

= 88

f 22000
245000
2 22500L
11250ch

3S
3 1875L
SLas
SLS
S 25L

5

= xx2x x3xx5xx
= 2x2x3xSxS

= 300

8 . a- 241210
5Los
11 121L
11
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1210 = 2x5xx11

Since 2 and I do not occur ina pair
:. We multiply 1210 by 2x5 = 10 to get a

perfect square number.

.. Required smallest number to
1210x10 = 12100

#00=x2xSu
- 2xSx11

= 110

b . 222048
2124

i
1282
24

i
2
2
2

2018 = 2x2x2x2x(x2x2x2

Since 2 does not occur in a pair.

.. We multiply 2048 by 2 to get a perfect
square number.

.. Required smallest number= 2
2048x2 = 4096

=x22x2x2x2x
= 2x2x2x2x2x2
= 64
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e- 211008
2504
22
2126
3
32

7

1008 = (2x2x(x2x*3 x7

Since 7 does not occur in a fair
.. We multiply 1008 by 7 to get a perfect
square number

... Required smallest number = 7
1008x7 = 7056

Fos = ~x2xx2x**3x x7
= 2x2x3x7

= 84

d . 22768
2254
2 192L
2
2448
24
ze
2
3

768 = 22xx2x(x2x(x2x3

Since 3 does not occur in a pair
:. We multiply 708 by 3 to get a perfect
square number
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:. Required smallest number= 3

768x3 = 2304

304 = seexzzEx
- 2x2x2x2x3

= 48

9a . S25
ses
sks
sks
S

3125 = -xSxxxxSxS

Since I does not occur in a pair.
: We divide 3125 by s to get a perfect square
number .

.. Required smallest number= S
3125 + S = 625

=S
- SXS

= 25

b - 2L700
2 1135o
3 675L
3 225L
3LS
sks
S

2700 = 222x(x3x3xS
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Since 3 does not occur in a fair
We divide 2700 by 3 to get a perfect square
number .

:. Required smallest number = 3

2700 = 3 = 900

To = r x2xx3xxS
= 2x3xS

= 30

e. ↳
7

343= Ex7x7

Since 7 does not occur in a fair
...We divide 343 by 7 to get a perfect
square number.

... Required smallest number = 7
343 = 7 = 49

9 = 7

= 7

d 24240
2#20
812

3

i
3 S

S

cb
se

as
sis

tan
ce

.co
m



3240 = 22x2x*3xx3xS

Since 2 and I do not occur in a fair
.. We divide 2340 by 2xS= 10
... Required smallest number = 10
3240 = 10 = 324

5524 = x2x x3x3

= 2x3x3

= 18

10 . 24,6, 8 , 12
24, 3, 4 , 6
3 + , 3, 2, 3

1, 1 , 2,1

2. c .m. = 2x2x3x2

= 24

24 = (x2x2x3

Since 2 and3 do not occur ina pair.
:

.
We multiply 24 by 2x5 = 6 to get a

perfect square number

:. Required smallest square number = 24x6
= 144

11 . Let number of rowsc
:. Number of plants in each row

Total number of plants = 3844
According to the question
xxx= 3844

or x22 = 3844

an = 54

cb
se

as
sis

tan
ce

.co
m



23844
2122
31

31

x = x2x31

or x= 2x31

or x= 62

: Number of rows of plants = 02

12. Let number of cadets in each row=

... Number of rows =
Total number of cadits = 841

According to the question
x x x= 841

or 2 = 841

an x= t

29 284t

29

x= Eax29
ver x = 29

:. Number of cadets in each row= 29
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